Name:
 


Class period:  ___________________

                           Review for Test 501 (Factoring)
Directions:  Factor by GCF, be sure to CHECK your answer by multiplying!  Show all work!
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Directions:  Factor each trinomial, be sure to CHECK your answers by multiplying.  Show all work!
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9.    Find the GCF for 72y² + 24
10.  The area of a rectangular rug can be expressed as x2  x 56 square units. If the length is x – 8 units, what is the width?
11. What is the factored form of 2x²+ 11x -13
12.  Which of the following expressions is equivalent to  x2 x 90 ?

A.  (x 9)(x 10)
B.  (x 10)(x 9)
C.  (x 9)(x 10)
D.  None of these
13.  Using GCF factoring, the polynomial 16x7 + 36x3 should be in the factored form as  axb(cx + d), which of the following would be the values of a and b?

A.  a = 16; b = 7
B.  a = 4; b = 3
C.  a = 2; b = 3
D.  a = 4; b = 7
14. The area of a square region can be expressed as x2  24x  square units. If the width is
x + 12 units, what is the length?
15.  The dimensions for each of the rectangles below are listed in the dimension box. Dimensions could be used more than once.  Use the area to determine the dimensions of each rectangle.  Note:  One of these figures is a square.
Dimension Box
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9)  GCF: 24
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